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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
00 	 June, 2011 

ELECTIVE COURSE : COMMERCE 

ECO-1 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 

(Weigh tage 70%) 

Note : Attempt both Section-A and Section-B. 

SECTION - A 

1. 	Attempt any four of the following : 	5+5+5+5 
(a) Distinguish between profession and 

employment. 
(b) Describe briefly different types of promoters 

of business. 
(c) Explain the difference between fixed capital 

and working capital. 
(d) State the important points to be kept in 

mind while designing an advertisement 
message. 

(e) Outline the important steps necessary to be 
taken by a businessman before undertaking 
export-import business. 

(f) How is overdraft facility beneficial to the 
businessman ? 

(g) Explain the difference between a public 
enterprise and a private enterprise. 

(h) What is meant by a government company ? 
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SECTION - B 
Note : Attempt any three of the following : 

2. Describe the facilities that are called 'aid to trade'. 6+4 
How is wholesale trade different from retail trade ? 

3. Explain the merits and limitations of the company 5+5  
form of business organisation. 

4. "Speculative transactions are different from 10 
investment transactions." Elaborate. 

5. State the services of retailers to consumers and 6+4 
explain the features of a super market. 

6. How does foreign trade differ from the domestic 8+2 
trade ? Can the change of the government in a 
particular country affect its foreign trade ? 
Explain. 

7. Describe briefly the various types of bank accounts 6+4 
that can be opened by a customer and explain 
the procedure for opening any one of these 
accounts. 
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